INTEGRATED INDIAN SCHOOL, KUWAIT
CLASS XII A (2023-24)

= E
= E
[ GENERAL INSTRUCTIONS/GUIDELINES =
%1 Assignments must be submitted on the first day when the school reopens. %
2. Compile all the work and submit it in a clear folder. =
% a. Your full name roll number and class must be written clearly on the folder. %
% b. Make the folder attractive. %
= c. Each item must begin on a fresh page. =
% d. Overall presentation — layout/neatness/grammar/spelling/illustration and %
% handwritten. %
= E
= E
= 5
= E
= E
= E
= E
= E
= 5
= E



ENGLISH

1.Create a portfolio file

Give it an attractive cover page with your details (Name, Roll no, Class/Sec). It should
include an index page, introduction page and acknowledgement page. Portfolio must
have the following things —

1. Collect stories of incidents that took place during World War Il and write them in your
own words.

2. Describe 5 good things that Mahatma Gandhi did for India and illustrate them.
3. Conduct an interview and write the script on the topic ‘Should we be concerned
about our safety while using social media’?

4. Read all the lessons and poems that was completed during the first term and write
down the summary in 200 words.

2. CREATE POWERPOINT PRESENTATION - (FLAMINGO)
> Create a PPT on the lesson ‘MEMORIES OF CHILDHOOD’

> Create a PPT on the lesson ‘THE ENEMY’

= 5
E& BOOK REVIEW 5
% Read the book ‘The Plague’ by Albert Camus. Write down the main characters of the %
%story, the synopsis and your personal review. %
%4. Explore the following concepts and write a brief note in your own words. Note all these %
%concepts will be helpful in understanding the chapter/ poems. %
% e Socialism %
% e Romanticism %
% e Feminism %
= e Racism =
% e Casteism %
% e Satire %
=, ° i =]
= Patrlarc.hy =
= e Dramatic lrony =
= 5

%5. WRITING %

%A. In big city’s road rage has become a serious problem. A minor scratch, a little push, or a %
small brushing past can lead to scuffle sometimes resulting even in murder. Write a Ietter
|n 120-150 words to the Police Commissioner giving your views on the problem and its

§U olutions. You are Karuna/Karan, M 114 Mall Road, Delhi. %



N 6 e e
B. You are Dhruv/ Nidhi, Student Editor of your school magazine, ‘The Buds’. Write a

notice in not more than 50 words to be placed on your school notice board, inviting short
stories, articles poems etc., from students of all classes for the school magazine. Give all
the necessary details.

0J

C. Arobbery took place in Gorakhpur in Khurda Tank police station limits when the
Branch Staff of PNB were on their way back after collecting Rs. 50 lakhs from the regional
office of the Reserve Bank. As staff correspondent for ‘The Indian Express’, write a report
in 120- 150 words.

6. GROUP WORK: ART INTEGRATED PROJECT

Prepare an assignment focusing on the literary heroes of the Andaman and Nicobar
Islands who have been influenced or have influenced Indian literalists.

FORMAT
> TITLE PAGE
» ACKNOWLEDGEMENT
> INTRODUCTION
» CONTENT
Birth
Education
Family Background %
Career =1
Literary works %
> CONCLUSION %
> BIBLIOGRAPHY (References) =
» TEACHER EVALUATION REPORT PAGE %
=
=
=
ECONOMICS %
=
I.  Answer the following questions from economics reader: =
e PageR1-R11 %
e PageR14-R15 %
e Page R19 —Question no. 1 to 19 except q.13. =
e Page R33toR35 %
= 1. Complete the project for Practical Examination as per the guidelines for the Project =
% Work discussed in class. Please note; do not do spiral bind till the project is approved. %

= 5
= 5

= 5
%WWWW



ACCOUNTANCY

A. Answer the following.

CH: 1. Accounting for Partnership- Fundamentals.

1. Singh and Gupta decided to start a partnership firm to manufacture low cost jute bags
as plastic bags were creating many environmental problems. They contributed capitals of Rs
1,00,000 and Rs 50,000 on 1st April, 2012 for this. Singh expressed his willingness to admit
Shakti as a partner without capital, who is specially abled but a very creative and intelligent
friend of his. Gupta agreed to this. The terms of partnership were as follows

1. Singh, Gupta and Shakti will share profits in the ratio of 2: 2: 1.
2. Interest on capital will be provided @ 6% per annum.

Due to shortage of capital, Singh contributed Rs 25,000 on 30th September, 2012 and
Gupta contributed Rs 10,000 on 1st January, 2013 as additional capital. The profit of the
firm for the year ended 31st March, 2013 was Rs 1,68,900.

1. Prepare profit and loss appropriation account for the year ending 31st March, 2013.
2. ldentify any two values which the firm wants to communicate to society.

2. Azad and Benny are equal partners. Their capitals are Rs 40,000 and Rs 80,000,

Erespectively. After the accounts for the year have been prepared it is discovered that 2
= interest at 5% p.a. as provided in the partnership agreement, has not been credited to the =
2 capital accounts before distribution of profits. It is decided to make an adjustment entry at 5

%the beginning of the next year. Record the necessary journal entry. %
= =

= 3. A, Band C sharing profits in the ratio 3:2:1 respectively. C wants that profits be shared 5
%equally and it should be applicable retrospectively from the last three years. Other partners %
=have no objection to this. Profits for the last three years were Rs 1,20,000, Rs 94,000 and Rs =

=1,10,000 respectively. Record adjustment that means of a journal entry and show the 5
%working notes. %
= E
%4. L, M, and N were partners in firm sharing profit in the ratio of 3 : 4 : 5. Their fixed %
— capitals were L Rs 4,00,000, M Rs 5,00,000 and N Rs 6,00,000 respectively. The partnership =
%deed provided for the following: %
= E
% 1. Interest on capital @ 6% p.a. %

2 Salary of Rs 30,000 p.a. to N. 5
% . Interest on partner’s drawings will be charged @ 12% p.a. %

%During the year ended 31.3.2009, the firm earned a profit of Rs 2,70,000. L withdrew Rs %
10,000 on 1.4.2008. M withdrew Rs 12,000 on 30.09.2008. and N withdrew Rs 15,000 on %
§31 12.2008. Prepare profit and loss appropriation account for the year ended 31.3.20009.

%WWWW
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= 5. When and why rectifying entries are made in the partners’ capital accounts? 5
E CH: 2. Goodwill- Nature and valuation. %
E 6. What is the need for valuation of goodwill? %
E 7. What are the methods to evaluate goodwill ? %
E 8. what are the two types of Goodwill. Explain its treatment in books of account. %
E9. Show how super profit method is used to calculate goodwill. %
E 10. M/s Aradhya having the assets of Rs 10,00,000 and Liabilities of Rs 4,20,000. The firm %
E earns the annual profit of Rs. 90,000. The rate of interest expected from the capital having %
E regard to the risk involved is 15%. Calculate the amount of Goodwill by Capitalisation of %
= Super Profit method. 5
= 5
E CH: 3. Change in Profit Sharing Ratio Among the Existing Partners. %
E 11. M/s Aradhya having the assets of Rs 10,00,000 and Liabilities of Rs 4,20,000. The firm %
=

=
= regard to the risk involved is 15%. Calculate the amount of Goodwill by Capitalisation of =
ESuper Profit method. %
c 5
= 12. X,Y and Z share profits as 5 : 3 : 2. They decide to share their future profitsas4:3:3 =
c 5
= with effect from April 1, 2019,. On this date the following revaluations have taken place: =l
= 5
E Book Value (Rs.) Revised Value (Rs.) %
5 Investments 22,000 25,000 =
S Plant and Machinery 25,000 20,000 =
S Land and Building 40,000 50,000 =
E Outstanding Expenses | 5,600 6,000 %
E Sundry Debtors 60,000 50,000 %
% Trade Creditors 70,000 60,000 %
=
= Pass necessary adjustment entry to be made because of the above changes in the values of =
Eassets and liabilities. However old values will continue in the books. %
2 5
%13. X and Y are partners in a firm sharing profits in the ratio of 3:2. They decided to share %
— future profits equally. On the date of change in the profit-sharing ratio, the Profit and Loss =
Account showed a debit balance of Rs 50,000. Pass the necessary Journal entry for the =
-
E distribution of the balance in the Profit and Loss Account immediately before the change in %
Ethe profit-sharing ratio. 5
c 5
514. Anant, Gulab and Khushbu were partners in a firm sharing profits in the ratio of 5: 3 : 2. %
= From 1st April, 2014, they decided to share the profits equally. For this purpose, the =

= =
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E goodwill of the firm was valued at 2,40,000.

= Pass necessary journal entry for the treatment of goodwill on change in the profit sharing
ratio of Anant, Gulab and Khushbu.

=
=

=
=

15. B Ram, Shyam and Hari were in partnership sharing profits in the ratioof 3:2: 1. The

= Balance Sheet as at 31.3.2013 was as follows :

=

= agreed that.

=

E BALANCE SHEET as at 31.3.2013

=

E Liabilities (Rs) Assets (Rs)
5 Bills Payable 20,000 Cash 40,000
E Creditors 20,000 Bills Receivable 5,000
E General Reserve 30,000 Debtors 15,000
E Capitals Stock 50,000
E Ram 50,000 Furniture 20,000
E Shyam 30,000 Machinery 30,000
E Hari 25,000 |1,05,000 Goodwill 15,000
E 1,75,000 1,75,000

,0n1.4.2013 partners decided to share profits equally. For this purpose it was further

= 1. Goodwill of the firm should be valued at Rs 30,000.

C 2. Furniture and Machinery is to be revalued at Rs 25,000 and Rs 35,000 respectively.

— 3. Value of Stock is to be reduced by Rs 4,000.

=

= after reconstitution.

2
2

=

516. A and B who shared profits in the proportion of 5 : 3 had capitals of Rs 70,000 and Rs

= 40,000 respectively. They agree to admit C into partnership for 110th share in future
Eprofits. C brings Rs 30,000 as capital and is unable to bring Rs 1,600 as his share of goodwill
=

ECH:4. Admission of a Partner.

£,in cash. Give journal entries.

=
%17. Asha and Aditi are partners in a firm sharing profits and losses in the ratio of 3: 2 They
=
=

iadmit Raghav as a partner for 14
=

Sith share in the profits of the firm Raghav brings Rs.6,00,000 as his capital and his share of
=
= goodwill in cash. Goodwill of the firm is to be valued at two year’s purchase of average

BUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUD@

2 You are required to give necessary journal entries to give effect to the above arrangement
C,and prepare Revaluation Account, Partners’ Capital Accounts and Balance Sheet of the firm
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= profits of the last four years. 5
EThe profits of the firm during the last four years are given below: %
c 5
E Year Profit (Rs.) %
E 2013 - 14 3,50,000 %
5 2014 - 15 4,75,000 =
52015 - 16 6,70,000 =
512016 - 17 7,45,000 =
c 5
EThe following additional information is given. %
c 5
= 1. To occur management cost an annual charge or Rs. 56,250 should be made for the =
c 5
E purpose of valuation of goodwill. =

2. The closing stock for the year ended 31st March 2017 was overvalued by Rs. 15,000 =
c 5
E Pass necessary journal entries on Raghav’s admission showing the working notes %
E clearly. 5
c 5

=218.X and Y are partners in a firm sharing profits in the ratio of 4 : 3. On 1st April, 2012, they
=admitted Z as a new partner. Z brought in Rs 1,00,000 for his capital and Rs 21,000 for 1/3 =2

E rd share of goodwill premium. On Z’s admission goodwill appeared in the books of the firm %
éat Rs 28,000. Record the necessary journal entries on Z’s admission. %
= 5
=19.2 A, B and C were partners in a firm sharing profits in the ratio of 3:2:1. On 31st March, =
52019 their balance sheet was as follows %
= 5
= Balance Sheet =
= 5
= as at 31st March, 2015 =
= 5
= 5
E Liabilities Amit (Rs) Assets Amt (Rs) %
E Creditors 84,000 Bank 17,000 %
S General Reserve 21,000 |Debtors 23,000 =
= 5
E Capital A/cs Stock 1,10,000 %
S A 60,000 Investments 30,000 =
= 40,000 Furniture and Fittings 10,000 =
% C 20,000 |1,20,000 Machinery 35,000 %
% 2,25,000 2,25,000 %
c 5
%On the above date, D was admitted as a new partner and it was decided that %

5
% 1. The new profit sharing ratio between A, B, Cand D will be 2: 2: 1: 1. %
c 5
EUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUHE
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BUSINESS STUDIES

A. Answer the following:

CH: 1. NATURE AND SIGNIFICANCE OF MANAGEMENT.

1. Explain the features of management that do not establish it as a profession.
2. ‘Management provides judgement and vision.” Explain.

3. How does coordination integrate group efforts? State briefly.

4. Rahul determines the overall objectives and strategies for the organisation.
He also interacts with business environment to analyse its implications. Name
the managerial level at which Ajay Kumar is working. State any four of his basic
functions.

5. Why management is important to an organisation? Explain any four points.

CH: 2. PRINCIPLES OF MANAGEMENT.

6. Explain why is it said that the principles of management are ‘primarily =
%behavioural’ and ‘contingent’ in nature. %
5

%7. Briefly explain ‘discipline’ and ‘scalar chain’ as the principles of general %
%management. %
2 . , .. , =
2 8. What is meant by ‘Management Principles’? 5
= E
%9. For the last three years, Elpis Technology Solutions p(Ltd.) is not functioning %
%smoothly and systematically. The relations between management and %
%employees are becoming bitter day by day. After a complete analysis, it was %
%observed that employees are not working effectively and efficiently and %
%management is not fulfilling its commitment of increments and promotions, %
. i. Which management principle is being ignored in the given case? %
= ii. Canthe problem be solved if only management becomes serious in 5
% fulfilling its promises? What should be the appropriate course of action to %
achieve smooth and systematic functioning of Mahagun Industries? %

10. What are the adverse effects of the violation of the following principles? %
ilee one adverse effect for each.

%WWWW



E a. Division of work %
E b. Unity of Command %
= c¢. Remuneration =
E d. Order %
E e. Stability of tenure %
ECH: 3. BUSINESS ENVIRONMENT. %
c 5
E 11. Explain how does the understanding of business environment help the %
E management in the following: %
E 1. Tapping useful resources %
E 2. Coping with rapid changes %
c 5
E 12. What is the role of the political environment in shaping the business? %
c 5
E 13. ‘The social environment of business is important for a business enterprise.’ %
EEprain. %
c 5
E 14. What is meant by business environment? Explain dynamic nature and %
éuncertainty as features of business environment. %
= 5
515. Singhal Printers Limited’ is a famous company of Printing Industry. Its main %
= business is to print the Greeting Cards of Deepavali, Eid, Christmas, Gurpurab =&
Eand other festivals. The Greeting Cards of this company are well known %

Ethroughout India. The Government made such changes in its Tax Policy recently 5
Swhich have had a positive impact on the Printing Industry. One negative factor
= noticed with regard to this Industry is that now people have started preferring ~
—internet and mobile to Greeting Cards on festivals and other occasions. 5
ESimilarly, it has also been noticed that in Printing Industry only those companies 5
Sare earning profits which have adopted modern technology. Recently, the new %
=,Central Government of the country decided to establish Industrial Estate in the 2
= name of Printing Club’ for the development of this industry. Also a decisionto =
%simplify the process of Industrial Disputes of Printing Industry in the country 5
%was taken. The Managing Director of ‘Singhal Printers Limited’ made a through %
%study of the business environment. He arrived at the conclusion that the %
ébusiness environment is a group of not one but several factors. All these factors
%affect business in some or the other form. Business has no control over them. 5
%Business has to mould itself in accordance with them. The companies which %
S follow this principle stay in the market for a long time and the remaining ones 2
ar from the market gradually.

= disappe =
= :
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SICH: 4. PLANNING. =

=

E 16. State any 3 limitations of planning the functions of management. 5
=

E 17. Explain the 6 importance of Planning? 5
=

E 18. Planning is the basic function of management.” Explain. 5
=
=

=19. ‘Mrs Renu Natrajan’, the Principal of Prince Public School” appointed Mr 5

ESansar Chand as the coach for football team which was to play the final match 5
Ein the State-Level Tournament. During training the coach inspired the players to %

~losing team. He explained special methods to the players for playing both =
Eoffenswe and defensive game. Also he told them how after beating the =
Eopponents football would be passed from one player to the other until it 2
= reached the goal box of the opposite team. At the end of the training, the coach =
Ewarned all the players against misbehaving with any of the players of the 5
Eopposne team, otherwise, they could be punished %
c 5
é a. ldentify the concept of the planning functions of management described in%
E the paragraph given above. %
= b. Explain the four types of concept identified in point 6a’ by quoting the =]
= 5
E relevant lines. %
E 20. Defining ‘organizational objectives’ as the first step in the process of %
E planning. Explain in brief the other steps of this process %
= 5
= 5
= 5
%m.s MARKETING. %
521. Mention a few characteristics a good brand name should have. %
= 5
%22. Explain different factors that affect the fixation of the price of a product? %
%23. How does labelling act as a silence salesman? %
%24. Arun and Rukun are good friends. After doing a fashion designing course %
%from a reputed institute, they have set up a garment factory in the rural area of %
5 Faridabad to manufacture trendy casual wear like jeans, T-shirts, shirts etc. %

E under the brand name ‘Swatantra’. They have employed people from the %
E earby villages itself in the factory. Moreover, they wish to sell the products 5)

5
UUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUD@
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through local retailers in the villages and also through ‘Flipkart’.
In the context of above case:

a. ldentify the elements of marketing mix being taken into consideration by
Arun.

b. Name the two methods of marketing adopted by them.

c. Define the term marketing.

25. After doing a diploma in entrepreneurship, Farihad started his own

taught by his grandmother in various preparations. He also learnt many recipes
from online sites and television programmes. He decided to keep the price of
the products low initially and also informed his customers about the goodness
of the items sold by them. However, he didn’t mention on the package of each
item weather it contained eggs or not. As a result, vegetarian people became
hesitant in buying things from his shop as they had to verbally inquire from him
about the inclusion of eggs in the preparation of various items.

In the context of the above case:

a. Name the important aspect related to the marketing of products which
has been ignored by Farihad.

part (a).
c. Mention the right of consumer being violated by Farihad.

= B. Prepare Business Studies Project based on the chapter MARKETING after going through
Ethe given guidelines.

5 INFORMATICS PRACTICES

= 1. Completion of project on given topic.
= 11..Completion of practical record file.

5 Answer the following questions.

2

%1) Write a program to create a series object using individual characters O, H and P.

—2) Write a program to create a series object using a string “so funny”

=

%4 ) Write a program to create a series object using a dictionary that stores the number of

3) Write a program to create a series object using ndarray that has five elements in the

range 24 to 64.

confectionary business. He started doing a lot of hard work and used the recipes

b. Explain briefly any three functions performed by the aspect as identified in

0J

iwtudents in each section of class 12 in your school %
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5) Write a program to create a series object that stores the initial budget allocated (
50,000 each )for the 4 quarter of the year quarterl,quarter2, quarter 3 and quarter 4.
6) Total number of medals to be born is 200 in the inter-University games held every
alternate year. Write code to create a series object that stores these medals for
games to be held in the decade 2020-2029.

7) A python list namely section stores the section names (A,B,C,D) of class 12th in your
school. Another list contri stores the contribution made by these students to a charity
fund endorsed by the school. Write code to create a series object that stores the
contribution amount as the values and the section name as the indexes.

8) Number of students in class 11th and 12th in three streams (science, commerce and
humanities ) are stored into series object to s11 and s12 .write code to find the total
number of students in class 11th and 12th stream wise.

9) Create two series object staff and salaries that stores the number of people in

various office branches and his salary is distributed in these branches, respectively.

= Write a program to create another series object that stores average salary per branch

%and then create a DataFrame object from these series object.

%10) | had to add by NGOs for different states:
=

% Toys books uniforms shoes
% Andhra. 7916. 6189. 610. 8810

=
% Odisha. 8508. 8208. 508. 6798
% MP. 7226. 6149. 611. 9611

% UP. 7617. 6157. 457. 6457

=

=, Write a program to display the aid for i)books and uniform only ii) shoes only.

2

%11) What will be the output of following codeimport pandas as pd

%sl=pd.Series([1,2,2,7,’Sachin',77.5])
Eprint(sl.head())
%print(sl.headB))

12) Write a Pandas program to multiple and divide two Pandas Series.

0J

éwample Series: [2, 4, 8, 10], [1, 3, 7, 9] %
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13) Write a Pandas program to convert a dictionary to a Pandas series.

Sample dictionary: d1 ={'a": 100, 'b': 200, 'c':300}

14) Write a Pandas program to sort a given

Series. 400, 300.12,100, 200

15) Write a Pandas program to create and display a DataFrame from a specified dictionary
data which has the index labels.

Sample Python dictionary data and list labels:

exam_data = {'name': ['Anastasia’, 'Dima’, 'Katherine', 'James', 'Emily', 'Michael’, 'Matthew',
'‘Laura’, 'Kevin', 'Jonas'],

'score': [12.5, 9, 16.5, np.nan, 9, 20, 14.5, np.nan, 8, 19],

attempts': [1,3,2,3,2,3,1,1, 2, 1],

'‘qualify': ['yes', 'no’, 'yes', 'no’, 'no’, 'yes', 'yes', 'no’, 'no’, 'yes']}

labels = ['a', 'b', 'c', 'd", 'e', 'f', 'g', 'h", "I, 'j']

16) Write a Pandas program to select the specified columns and rows from a given data

%frame.Sample Python dictionary data and list labels:

%Select 'name' and 'score' columns in rows 1, 3, 5, 6 from the following data frame.

%exam_data ={'name’: ['Anastasia’, 'Dima’, 'Katherine', 'James', 'Emily', 'Michael', 'Matthew',
= 'Laura’, 'Kevin', 'Jonas'

E ? ? ]I

=,

2 Score': [12.5, 9, 16.5, np.nan, 9, 20, 14.5, np.nan, 8, 19],

2

%'Attempts': 1,3,2,3,2,3,1,1, 2, 1],

%'qualify': ['ves', 'no', 'yes', 'no’, 'nad’, 'yes', 'yes', 'no’, 'no’, 'yes']}

%labels - [Ial’ Ibl’ ICI’ Idl’ lel’ |f|’ Ig" Ihl’ lil’ ljl]
2

%Expected Output:

%Select specific columns and rows:
2

% Score qualify

%b 9.0 no

Ed NaN no

%f 20.0 vyes

0J

%g 14.5 yes %
%WWWW
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PHYSICAL EDUCATION

PRACTICAL WORK :

YOGA :

1. GOMUKASANA
A). DIAGRAM
B). PROCEDURES
C). BENEFITS

2. BHUJANGASANA

A). DIAGRAM
B). PROCEDURES
C). BENEFITS
GAMES :
1. FOOTBALL

A). DRAW A COURT DIAGRAM WITH MEASUREMENTS
B). RULES AND REGULATIONS

C). SKILLS
5 2. BATMINTON 2
% A). DRAW A COURT DIAGRAM WITH MEASUREMENTS %
% B). RULES AND REGULATIONS %
5 C). SKILLS =
= g
= g
= ; =
= g
= g
= g
= g
= g
= g
= g
= g
= a— E
= E
c | 5
= M 5
c 0 5
2 g
2 g

%ﬂﬂmﬂw




